PreCalculus 12B  Polynomial Functions
Name ______________________

PART A   MULTIPLE CHOICE [value 14]

           _____1. If 
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 is divided by 
[image: image2.wmf])

3

x

(

+

, what is the remainder?
                 A. -67
             B. –31    
     C. -19
D.  -13

_____2. A polynomial P(x) is divided by (x + 4).  If the quotient is Q(x) and the remainder is -7, then            
               P(–4) is 

           A. 4
             B. -4
     C. –7
D. 7

_____3. If (x-3) is a factor of the function P, where P(x) = 2x3 – 4x2 + kx +12, then the value of k is

              A. –10
             B. 10
     C. 5
       D. -5

_____4.  How many x-intercepts are possible for the function:  f(x) = 3x4 -6x3+6x2 -9x-4 

A.  2                  B.  3             C.  4                  D.  5

_____5.  Consider two polynomial functions f(x) and g(x), when g(x) is divided by x-4 the remainder 

               is 8 and -4 is a zero of f(x).  Which of the following statements is true?

               A. g(4) + f(4) = 8


C. g(4) + f(0) = 4
   
   B. g(4) + f(-4) = 8

             D. g(-4) + f(-4) = 8

          _____6.  For a polynomial F(x), if   F(-8) =0, then which of the following must be a factor of F(x)?
A.   x2-8                B.  x+8                      C.  8x              D.  x-8
_____7.  The graph of the function P(x) = x3 + 16x2 - 11x - 7    will intercept the y-axis at: 
A.  0                  B.  1             C.  -7                  D.  -1
           _____8.  A factor of x3+16x2+79x+120  is

A.  x+3                      B.  x-5                   C.  x-3                 D.  x-8        
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           _____9.  What is the minimum degree of the polynomial shown? 

                        A. 3         B. 4        C. 5       D. 6        

 _____10.  Which graph could represent a polynomial function of degree 5?
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_____11.  The equation of the polynomial is:
              A. f(x) = –(x-1)2(x+3) 

              B. f(x) =  (x+1)2(x-3) 
              C. f(x) = 2(x-1)2(x+3) 
              D. f(x) = -(x+1)2(x-3)
[image: image13.png]



_____12.  The graph of a third-degree polynomial function of the form 
                  P(x) = ax3 + bx2 + cx + d is shown.  Which statement about the 
                  values of a and d is correct?

A.  a > 0 and d > 0

B.  a > 0 and d < 0

C.  a < 0 and d > 0

D.  a < 0 and d < 0

PART  B
Do all work for this section on your own paper
[value 14]    1.  Factor each of the following

a. 
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c.  
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[value 3]    2.  Determine the remainder when 
[image: image6.wmf]3

4

6

4

)

(

2

3

-

+

-

=

x

x

x

x

P

 is divided by 2x – 1
[value 4]    3.  Solve:  
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[value 27]  4.  For each of the following state:  
[image: image8.wmf])

1

x

)(

3

x

(

)

2

x

(

y

2

-

-

+

=


I.  Degree

II. Turning Points

III. Intervals where positive and negative

IV.  End Behaviour

V.   x and y intercepts

VI. Clearly sketch

a.  
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             b.  
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[value 3]  State the equation of the graphs shown.  
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